Monday, April 20, 2020

Sec 10-6: Circumference and Arc Length.

Find the circumference of each circle. Leave your answer

in terms of 1. Q is the center of each circle.
B

A BC=23cm

[¢]
BC is a diameter so use C=1rd

C =2m(7) =141min C =m(23)=23mcm

AQ is a radius so use C=2Tr

Circumference of a Circle:

The distance around the outside of a circle.
C=nd or C=2nar

Find the circumference of each circle. Round answers to
the nearest hundredth. Q is the center of each circle.

AB = 5ft

c

AB is a diameter so use C=md CQ is a radius so use C=21r

C=m(5)=15711 C=2m(11)=69.12m



Given the circumference of a circle is 50 cm, find it's Given the circumference of a circle is 2881 in, find it's
radius to the nearest hundredth. diameter.
C=2mr — 50=2mr C=md —— 288w =md

L 27 aroonar
50 d=288in
I o 5 7.96 cm
So==m
The measure of an arc is .
a number of degrees that represents how Arc L_ength- ] ]
much of a whole circle we have, The distance between two points on the circle as you
how much out of a possible 360°. trace around the outside of the circle.
.. It's a portion of the circle's circumference.
This is different than the LENGTH of ’

Given in units of length such asin., cm., ft., ...
an arc.



To find the length of an arc you can use a
proportion.

Just think of this ratip; Partofacirce
the whole circle

part of a circle in degrees _ part of the circumference
the whole circle in degrees  the whole circumference

The textbook gives this formula for Arc Length:

Theorem 10-10 XL
The length of an arc of a circle is the product of the ratio v /
p

NA
"‘“»‘“‘ﬁ;’;; the are and the circumference of the circle.
— O
length of AB = 4B . o7y B

This formula is same as the proportion

measure of a Central ~/ Arc Length (v)
Z7v 360° circume or 7d) 'w

where both sides were multiplied by the circumference

Arc Length proportion:

measure of a Central ~/ Arc Length (x)

360° circumference (277 or nd)

Remember the measure of a Central Angle is the
same as the measure of it's corresponding arc.

~~
Find the length of AC to the nearest tenth.
1st: Find the circumference: C = 2m(5) =101

2nd: Set up the proportion:
& C 90° _ _x
3600 107

3rd: Cross-multiply and round:




~~
Find the length of AC to the nearest tenth.

1st: Find the circumference: C = 2m(8) = 161

A
C 2nd: Set up the proportion:
60° _ _x
3600 167

3rd: Cross-multiply and round:

~~
Find the length of AC to the nearest tenth.

ABis a diameter. AB =6 ft
1st: Find Circumference: C = md = 61

2nd: Find the measure of ZAXC = AC

N —
AC = 180°- BC = 180° - 42° = 138°

A
IC 3rd: Set up and solve Proportion:
138° _ x

360° B or

P
Find the length of ABC to the nearest tenth.

1st: Find the circumference: C =2m(11) = 221

A
2nd: Set up the proportion:
. 2502 ... %
360° 22n

C

B 3rd: Cross-multiply and round:

Given the length of AC is 45 in, find the diameter to nearest tenth.

Set up the proportion with the known information.

A Q G 105° _ 45
360° circumference

Cross multiply to solve for the circumference:

C=154.3in— 1d = 1543
divide both sides by 1T to get:



Given the length of AC is 87 cm, find the measure of ZAXC to nearest tenth

1st: Find Circumference: C = 2mrr = 2m(50) = 100 You Can nOW dO PraCtICG #1 8 Wthh
& 2nd: Set up proportion with known information. IS On my blog
« _ 87cm
3600 1007

3rd: Cross-multiply to solve for x:  x=99.7

—~
A this value of x represents ZAXC = AC

ZAXC =99.7°



